
WARNING: READ ALL INSTRUCTION BEFORE USE. THIS ENCLOSURE IS DESIGNED TO BE 
INSTALLED BY A TRAINED PROFESSIONAL INSTALLER.

IS0227 Rev A 06/12/24

NHBS-RACK-V4U 4U Vertical Equipment Rack
Installation Guide

The hardware kit included contains both concrete anchors and wood screws for wall 
mounting. The rear mounting holes of the NHBS-RACK-V4U are spaced to mount to 
standard 16" stud spacing found in most wall construction.

Hardware Included

(20) M6 Cage Nuts & Screws

(2) Concrete Anchors

(2) Wood Screws



Installation Guide
NS282416-DIN and NS322416-DIN Series

Got Questions?
We are here to help.
Contact us at:

sales@altelix.com

USA & Canada Customers: 866-660-9434

International Customers: +1 561-660-9434

Note: 19” 4U vertical bracket can hold up to 44 lbs. evenly distributed.

2. After installing the required cage nuts, use the included M6 Mounting Screws and M6 
Washers to secure your equipment. 

Mounting Screws

and Washers

1. Install M6 Cage Nuts into the square openings to provide an attachment point for the 
M6 Mounting Screws.

a. From inside of the Mounting Rails, insert one of the flanges of the cage nut 
through the square opening. Press against the side of the square opening.

b. Compress the cage nut at the sides slightly to allow the remaining flange to fit 
through the square opening. When the cage nut is properly installed, both 
flanges will protrude through the square opening and will be visible on the outer 
surface of the mounting rail. 

Repeat steps 1a and 1b until all required cage nuts are installed.

Cage Nuts

IS0227 Rev A 06/12/24


	Slide 1
	Slide 2

